I gdten weldt
\‘ Nahonal Testmg Agency

|Test Date : 11 sep 2022 Test Slot : siot 2

[Subject : PGQP78-Rigveda

Sl. No.1
QBID:1555071

Tdentify the correct preposition to make a meaningful sentence.

The scheme of Pradhan Mantri Jan Dhan Yojna was originated the Prime Minister.
(1)

(2) with

(3) for

(4) by

frrafeiad & 9 &IF W I oo 181 § 2
() &

2 o

3) 4

@) 3

1[Option ID=45001]

2[Option ID=45002]

3[Option ID=45003]
4[Option ID=45004]

Sl. No.2
QBID:1555072

Identify the meaning of the underlined idiom from the options given.

Rajesh's brother gave him a bird's eye view of the courses offered in the Hansraj College .
(1) an objective view

(2) a detailed presentation

(3) an elaborate description

(4) a general view

FafaiEd o 9 o 1H-91 Wsa BRI U9 &1 761 § 2

(1) S, A"

(2) =15, RreEd

(3) ==HI PREMAT

(4) DI, TH

1[Option ID=45045]
2[Option ID=45046]
3[Option ID=45047]
4[Option ID=45048]

Sl. No.3
QBID:1555073

Choose the correct option to make a meaningful sentence.
For the last seven months I in this company.
(1) am working

(2) has been working

(3) have been working

(4) have worked

31 & o =0 9 fodl 9% & ST §1H &1 TG Yobe BId] & I8 BIH-T1 BRP Hod 8 2

(1) FABRP

(2) FHHRS
(3) HIEH DR




(4) HHGHPNP

1[Option ID=45073]
2[Option ID=45074]
3[Option ID=45075]
4[Option ID=45076]

Sl. No.4
QBID:1555074

Identify synonym for the underlined word in the sentence.

Rabindranath Tagore had penchant for reading books.

(1) liking

(2) strength
(3) inclination
(4) desire

:ﬁaammﬁa%:Hﬁ&ﬁ-ﬁﬂﬁ(fksscnion}ﬂ%Wﬁﬁ@ﬂ%ﬁmmm{RcasonR)aawli:
iRy A Torar fagmor sifder wsa @ |
PRUIR : G150 & TN HH & 915 Uiy &1 9 d5d T s |

JIRIFd DU & 3Tl 4, =i TG T fddhedl T I ol IR I I-10 DIl -
(1) AIRRIFTAT IRR AT TS TrE ©

(2) A SRR GAE, AfbTR, A D] T AT TE ©

(3) AGTe. AfPIR HTA R

4 AT, APTRITR

1[Option ID=45077]
2[Option ID=45078]
3[Option ID=45079]
4[Option ID=45080]

Sl. No.5
QBID:1555075

Find correctly spelt word form the options given below (only one word is spelt correctly)
(1) Abatoir

(2) Apiary

(3) Aviay

(4) Archves

-1 & 1Y FEI-11 BT e S -

T 1 T I
RE) Gkl I
A |3RUg L |dH
B. (3@ . |&a
c. [fgeu Il |35y
D. [T v, |[&&
i< fau U fa@ el & 9 981 IR &1 9094 Dot -

(1) A-IV.B-II. C-I. D-IT
(2) A-IL B-III. C-IV. D-I
(3) A-L. B-II. C-IIT. D-IV
(4) A-IL B-IV. C-III. D-I
1[Option ID=45081]
2[Option ID=45082]

3[Option ID=45083]
4[Option ID=45084]

Sl. No.6
QBID:1555076




Tdentify the correct active voice for the sentence given below :

When were my shirts returned by Ajay ?
(1) When Ajay returned my shirts ?
(2) When will Ajay returned my shirts ?
(3) When is Ajay return my shirts ?

(4) When did Ajay return my shirts ?

:ﬁaamﬁ—qq'fﬂ%;:Qﬁéﬁﬁ-ﬁﬂﬁ(f\sseﬂioné&)%Wﬁﬁl@ﬂ%ﬁmmm{ReasorlR)a§Wﬁ:

SHIUHYA A - TR @i &1 ared § fardd Sad aafda &1 ¥RT 9 Wi R a1l

HRUR : 59 TeTa¥ &1 o g g |

SURIGd P & Sl H, Aiid fU U fasedl § ¥ 98l 3R &1 9710 ol —
(1) ASRRIATAE SRR AP TSI TGN §

(2) A SRR EHF GO T, Afp R A T Te! O Tl §

(3) AGTR. AR AR

4 AGT L. AfPTRITR

1[Option ID=45085]

2[Option ID=45086]

3[Option ID=45087]
4[Option ID=45088]

Sl. No.7
QBID:1555077

Identify the correct direct speech for the sentence given below :

Farhann told Ashok that Taj Mahal is the Seventh Wonder of the World.

(1) Farhaan suggested to Ashok. "Taj Mahal is the Seventh Wonder of the World".
(2) Farhaan said to Ashok, "Taj Mahal is the Seventh Wonder of the World".

(3) Farhaan tells to Ashok, "Taj Mahal is the Seventh Wonder of the World".

(4) Farhaan says to Ashok, "Taj Mahal is the Seventh Wonder of the World".

PR A Y PR g ad g 2
(1) HPRI - T

(2) IR - 4TS

(3) PRI - Y

(4) BPNRI - HIJ

1[Option ID=45089]

2[Option ID=45090]

3[Option ID=45091]
4[Option ID=45092]

Sl. No.8
QBID:1555078
Choose the correct order of the paragraph to create a meaning out of PQRS set :
To explain
P : that there are no opposites.
Q : forms required looking at the second

R : approach to opposites in the theory of forms

S : how Plato can deny the existence of some
(1) QPSR
(2) PQSR
(3) RSQP




(4) SQRP

eil-1 & 1Y YI-11 BT e BT -

T I et 11
A |foar 9 U g3 gufd L |[09®
B. |fof® UR ¢&l 5 9 IEE
C. |siug- g gl . [gRe=
D. |fardl &R @l & & sadl HATga ¥ | IV, |aiRsiae
- e T [doed! & O 951 SR &1 904 Dol -

(1) A-IV, B-III. C-II. D-I
(2) A-IIL B-IV. C-1. D-IT
(3) A-II B-I. C-IV, D-III
(4) A-L B-III. C-II. D-IV
1[Option ID=45093]
2[Option ID=45094]

3[Option ID=45095]
4[Option ID=45096]

Sl. No.9
QBID:1555079

Choose the correct sentence.
(1) She ate her breakfast, had a shower. and goes to school.

(2) She ate her breakfast, had a shower. and gone to school.

(3) She ate her breakfast, had a shower. and went to school.

(4) She ate her breakfast, had a shower. and was going for school.
Fafefad o 9 gy a9y [Higd $ifo -

(1) RS AR ACTE |

2 AT I AT |

(3) d&I &P B: SHAA I E |

) IEHS: ARG |

1[Option ID=45097]

2[Option ID=45098]

3[Option ID=45099]
4[Option ID=45100]

Sl. No.10
QBID:15550710

Find out which part of the following sentence has an error.
(1) Harsha told to the housekeeper

(2) that he should not
(3) Come for work
(4) from tomorrow

P ¥ e I & -

APy

B. TXiarg

C. I&ad

D. 9H®PR

E. SaiiE!
i fu U fad el © 9 Tgl 3R &1 944 ifoly -
(1) C.D3RE
(2) B.C 3RE

(3) C.D.E3IRA
(4)




A.B3RC

1[Option ID=45005]
2[Option ID=45006]
3[Option ID=45007]
4[Option ID=45008]

Sl. No.11
QBID:15550711

Who built the famous Shiva Temple at Ellora ?

(1) Chalukya King Pulikeshi IT

(2) Gupta King Samudragupta

(3) Mauryan Emperor Ashoka

(4) Rashtrakuta Ruler Krishna I

zH 9 foogq varn | Rra-wfex @1 fafor swamn -
(1) i RMHP gﬂ¢2ﬂ I

(2) TRIRTP FETA

(3) i qHIE D

(4) PDHC ARTPD D1

1[Option ID=45009]
2[Option ID=45010]
3[Option ID=45011]
4[Option ID=45012]

Sl. No.12
QBID:15550712

The origin of Indian music can be traced to which of the following Vedic Samhitas ?
(1) Atharvaveda

(2) Yajurveda

(3) Samaveda

(4) Rigveda

YR THd o1 S FHifdd [y dide dieai i gsng 2
(1) 3puddg

(2) Tqaq

(3) gHdS

(4) Fg

1[Option ID=45013]
2[Option ID=45014]
3[Option ID=45015]
4[Option ID=45016]

Sl. No.13
QBID:15550713

Buddhism made an important impact by allowing which of the following hitherto marginalized sections of society into its fold ?

A, Women
B. Warriors
C. Merchants
D. Shudras

Choose the correct answer from the options given below :
(1) Aonly
(2) AandD only

(3) Aand C only
(4) D only




dreyd 7 A & SN W US Fifed v ol &t s o & wnfird % 39 W @ meayy gy s

A. Tfgararf
B. Uil
C. R} g

D. &
A fqw aTe foehedl # & Tad IUgad I HN = hfelv -

(1) &Had A
(2) Had A ARD
(3) BT A IR C
(4) HFAD

1[Option ID=45017]
2[Option ID=45018]
3[Option ID=45019]
4[Option ID=45020]

Sl. No.14
QBID:15550714

President of India is empowered to make which of the following appointments ?

A. Chief of the Army

B. Speaker of the Lok Sabha
C. Chief Justice of India

D. Chief of the Air Force

Choose the correct answer from the options given below :
(1) A.BandD only

(2) AandD only

(3) Aand C only

(4) A.CandD only

fFafaied 3 9 o7 31 Fgfaadl & fiu vRa & ayuld o THd e § 2

A T VHE
B. TAIHIHT e8]

C. HRd & &0 I

D. a1g 11 W

= fou U fdoed! & 9 981 3Tk &1 994 iy -
(1) HGAA. B 3RD

(2) PHad A dfRD

(3) FadgaRC

(4) FHadA. € IRD

1[Option ID=45021]
2[Option ID=45022]
3[Option ID=45023]
4[Option ID=45024]

Sl. No.15
QBID:15550715




Which of the following statements are correct about Swachh Bharat Mission - Urban ?

A. Tt has an outlay of 1.41 Lakh crore and will be implemented over 5 years.
B. The nodal Ministry is Ministry of Housing and Urban Affairs.
C. SBM-U phase 2 was launched by Hardeep Singh Puri.

D. SBM was launched on 299 October 2014.

Choose the correct answer from the options given below :
(1) A.BandD only

(2) AandB only

(3) AandD only

(4) A.B.CandD only

T YRA-RE wed & aR # Faffec sR I s adi g

A SUHT Y 1.41 GG BRIS & 3RS 599 § foparf-ad farar Smgm |
B. 51 TS HATT. " 3TaM 3R W6 S ud TR #Fe" © |
C.UH.d1.0H.- Z Bl 2 541U R [ gRIURY fhar mar o7 |

D. TH.HIUH. 2 3[@TaR 2014 DITRH G AT |

A BT T Al # ¥ el 39¢ FT 949 ST
(1) HETA. B 3IND

(2) HadA3IRB

(3) FHad A 3MRD

(4) HIT A, B, C IR D

1[Option ID=45025]
2[Option ID=45026]
3[Option ID=45027]
4[Option ID=45028]

Sl. No.16
QBID:15550716

In a certain code language.

"book pen mouse computer” is coded as "er gh i ev"
"keypad pen book bottle" is coded as "gn ty iu k1"
"computer pen bottle paper” is coded as "cv kl io gh"

Which of the following code is used for "pen"
(1) gh
(2) 1iu
(3) ov
(4) 10

U fagiy e U o
"book pen mouse computer” BT HC - "er gh iu cv".
"keypad pen book bottle” PIHC 8- "en ty iu k1"

"computer pen bottle paper" DI RC 2-"evklio ch'.

"pen"%ﬁmﬁmﬁéﬁﬁ@ g

(1) gh

(2)
(3) ©v




(4) io

1[Option ID=45029]
2[Option ID=45030]
3[Option ID=45031]
4[Option ID=45032]

Sl. No.17
QBID:15550717

In a certain code language.

'Attend class daily good' is written as 935, 24%09, 3$6, 24*3
'‘Begin great any matter' is written as 3 & 3. 839, 10*15, 14%4
'Less error and fire' 1s written as 10$7. 23%8. 9%14. 24&3

'"Tool better than screw’ 13 written as 16%22. 5521, 10%4, 14%22

According to the given code what will be the code for the word Burst' ?
(1) 8%4
(2) 6%2
(3) 8%2
(4) 684

U faxY Pe HNT |

'Attend class daily good' Pl 085, 24%9, 386, 24*3 [eRAT oM &
'Begin great any matter’ P13 & 3. 889, 10%15. 1434 @I ST 8
'Less error and fire' I 1087, 23%8. 0%14. 24&3 ﬁ‘l@'lk_ﬂ?ﬂ%

'Tool better than screw’ @I 16%22, 5321, 10*4, 14%22 GRaT @@ & |

IR [GU U Hel & SR Ueg Burst' BT HT TN g 2
(1) 854

(2) 652

(3) 8%2

(4) 644

1[Option ID=45033]

2[Option ID=45034]

3[Option ID=45035]
4[Option ID=45036]

Sl. No.18
QBID:15550718

If the symbol "+ means '’ and ™' means ' and vice versa then, what would be the value of following equation ?

4%2/4-2+3
(1) 7
(2) 3
3) -8
(4) 10

gfe Topd =+ o1 3f — § 3R =+ o1 3 1 B 3R 591 faudia of 7w ® o Ffafed gfieru sram aar s 2

4%2/4-2+3
1) 7

(2) 3

3) -8

(4) 10

1[Option ID=45037]
2[Option ID=45038]

3[Option ID=45039]
4[Option ID=45040]




Sl. No.19
QBID:15550719

If V plays first. which one of the following must be true ?

A. T perform sixth.

B. X perform third.

C. Z perform seventh.

D. T perform immediately after Y.
E. W perform immediately after X.

(1) C and E are correct.
(2) DandE

(3) Aand B are correct
(4) C and D are correct

afe; v Ia4 U5 W[ adl & df FEfiiad 8 ¥ SH-91 fdeed 9@ i 2
A TS3d PH RIS |

B. X dRR pH W UK 1B |

C. Z 9Idd H W UKGfd <a1 8 |

D.YS RO EE T IR T g |

E. X & Q- a1 W UK a1 g |

=t feu U fdeedl & 9 981 3Tk &1 994 iy -
(1) Cc ARETEE

(2 D3RE

() ASRBUE®

(4 Cc3RDIT &

1[Option ID=45041]
2[Option ID=45042]
3[Option ID=45043]
4[Option ID=45044]

Sl. No.20
QBID:15550720

After walking for 6 km, Aradhana turns to the right and then walks 2 km. After that she turns to the left and walks 10 km. In the end.
Aradhana 1s moving towards the North. From which direction did Aradhana start her journey ?

(1) North

(2) South

(3) East

(4) West

6 fepHil =re & 18, SARTEAT alfe- Hol 3R 2 fb =ell | 39 a8 a5 918 go! 3R 10 fobel el | 3 H SR1eAT SR fGen & =
B | SRIEET A - am ford fexn A = @t ot o

(1) I
(2) cfgmor
(3) P4
(4) gigm

1[Option ID=45049]
2[Option ID=45050]
3[Option ID=45051]
4[Option ID=45052]

Sl. No.21
QBID:15550721

In how many ways, a committee of 6 members be selected from 7 men and 5 women. consisting of 4 men and 2 women ?
(1) 200
(2) 250
(3) 350




(4) 450

7 9N Ud 5 Afgansi 4 4 ¢ gy 9ifd &1 997 fea- TR ¥ a1 & g . o 4 9oy vd 2 Aigand wnfie &f 2
(1) 200

(2) 250

(3) 350

(4) 450

1[Option ID=45053]
2[Option ID=45054]
3[Option ID=45055]
4[Option ID=45056]

Sl. No.22
QBID:15550722

A cone and a sphere have equal radii and equal volumes. Find the ratio of the diameter of the sphere to the height of the cone?
(1) 14

(2) 1:2

(3) 41

4 2:1

U Qe 3R U TMicl &1 B Td a0 § | dl 7T & o0 &1 Ugp B hdls Y U faba=1 8T 2

(1) 14

(2) 1:2

3) 41

(4) 2:1

1[Option ID=45057]
2[Option ID=45058]
3[Option ID=45059]
4[Option ID=45060]

Sl. No.23
QBID:15550723

A sum of money doubles itself at compound interest in 15 years. In how many years will it, become eight times ?
(1) 15 years

(2) 30 years

(3) 40 years

(4) 45 years

Bs YRI Thqle saTS B a2 ° 15 a8t H GNIA1 81 Ol & | b awil § U8 313 71 81 S 2

@) 1539

) 309

(3) 40 a9

4) 4574

1[Option ID=45061]
2[Option ID=45062]
3[Option ID=45063]
4[Option ID=45064]

Sl. No.24
QBID:15550724

What is the probability of getting a sum 9 from two throws of a dice ?

(1)
(2)
(3)

4)
et U &1 &1 SR b T T 0 U B &1 WIiidhal fobdA1 € 2

1
(1) B

o - gl
| = I>—'-L-I'—-M|._.




(2)

(3)

(4)

= D e | e

1[Option ID=45065]
2[Option ID=45066]
3[Option ID=45067]
4[Option ID=45068]

Sl. No.25
QBID:15550725

If the equation 2x” + 3x+ p =0 has equal roots. then the value of p is
(1) 7/8
(2) 1/8
(3) 8/9
(4) 9/8
afe TGN 2,2 135+ p =0 B GHHE A 5. dl p P A a1 g »
(1) 7/8
(2) 1/8
(3) g/
(4) 9/8
1[Option ID=45069]
2[Option ID=45070]

3[Option ID=45071]
4[Option ID=45072]

Sl. No.26
QBID:231504831

qUsHIlA SBidq Hid di<|
(1) 3T

(2) wlal

(3) U3gXl

(4) 3Pl

1[Option ID=47201]
2[Option ID=47202]

3[Option ID=47203]
4[Option ID=47204]

Sl. No.27
QBID:231504832

H-gH] e gad SR Aus K|
(1) vy
(2) 94
(3) W
(4) o

1[Option ID=47245]
2[Option ID=47246]
3[Option ID=47247]
4[Option ID=47248]

Sl. No.28
QBID:231504833

3ig=d HalY=T-1 P WJeldl 7 T2ad |
(1) 3P

(2) Iepd

(3) Hehd

(4 GgH

1[Option ID=47289]




2[Option ID=47290]
3[Option ID=47291]
4[Option ID=47292]

Sl. No.29
QBID:231504834
[ ——

Fidg Did Sggddl- g

(1) 9
(2 I3
(3) HC

(4) <

1[Option ID=47333]
2[Option ID=47334]
3[Option ID=47335]
4[Option ID=47336]

Sl. No.30
QBID:231504835

qIHan! 9i5: S [ seden: |
(1) 3fg=ai
) Y=g
(3) g

(4) aféroremy

1[Option ID=47377]
2[Option ID=47378]
3[Option ID=47379]
4[Option ID=47380]

Sl. No.31
QBID:231504836

=Pes: HEGARGT: |
1) 2%
(2) Udl
(3) =Y
(4) T&

1[Option ID=47421]
2[Option ID=47422]
3[Option ID=47423]
4[Option ID=47424]

Sl. No.32
QBID:231504837

4G SRl Hid AR Fiwd|
(1) I@iEd

(2) fa=ifa:

(3) T3

(4) HEHAIN

1[Option ID=47465]

2[Option ID=47466]

3[Option ID=47467]
4[Option ID=47468]

Sl. No.33
QBID:231504838

BTAA eI S5 Yaas B Haa: |
(1) 3k

(2) g

(3) g%

(4)

1[Option ID=47493]
2[Option ID=47494]




3[Option ID=47495]
4[Option ID=47496]

Sl. No.34
QBID:231504839

SR Se: |
(1) I
2 fagr
) =
(4) TRY=

1[Option ID=47497]
2[Option ID=47498]
3[Option ID=47499]
4[Option ID=47500]

Sl. No.35
QBID:2315048310

SFHAUSH HBidq Bid 3T il
(1) W

(2) U=

(3) =Hifor

(4) Yl

1[Option ID=47205]
2[Option ID=47206]
3[Option ID=47207]
4[Option ID=47208]

Sl. No.36
QBID:2315048311

BRy== = 7 o
(1) PR

(2) e

(3) BERF:

(4) GGG

1[Option ID=47209]
2[Option ID=47210]
3[Option ID=47211]
4[Option ID=47212]

Sl. No.37
QBID:2315048312

SOIfYTe o3 Sid ST 9i=1
(1) Hg

(2) ¥

(3) Id

(4) T

1[Option ID=47213]

2[Option ID=47214]

3[Option ID=47215]
4[Option ID=47216]

Sl. No.38
QBID:2315048313

i MYUIY: HAYITH Jdar sRY=: |
(1) 3
(2) g
(3) i
@) T

1[Option ID=47217]
2[Option ID=47218]




3[Option ID=47219]
4[Option ID=47220]

Sl. No.39
QBID:2315048314

ATl S fdreurg: |
(1) FELRHIT:
) YEEHmD:
(3) IgemEm:
(4) EHIT:

1[Option ID=47221]
2[Option ID=47222]
3[Option ID=47223]
4[Option ID=47224]

Sl. No.40
QBID:2315048315

fasyriereg fd gar: af=i|

1[Option ID=47225]
2[Option ID=47226]
3[Option ID=47227]
4[Option ID=47228]

Sl. No.41
QBID:2315048316

TH: QU 49U B e
(1) IgIyTe:
(2) ey
3) g
(4) AV

1[Option ID=47229]
2[Option ID=47230]
3[Option ID=47231]
4[Option ID=47232]

Sl. No.42
QBID:2315048317

SITde Sildd: AHdared fudr & d-afd |
(1) BU

(2) g@
(3) g9
(4) HWId=UH

1[Option ID=47233]
2[Option ID=47234]
3[Option ID=47235]
4[Option ID=47236]

Sl. No.43
QBID:2315048318

ARG ERY=: & WG|
(1) g3uf

(2) 3HfH

3) %

(4) TRIRY

1[Option ID=47237]




2[Option ID=47238]
3[Option ID=47239]
4[Option ID=47240]

Sl. No.44
QBID:2315048319

ARSI Tl & |
(1) ofer:

(2) gE:

(3) IMHT:

(4) HPHCHT:

1[Option ID=47241]
2[Option ID=47242]
3[Option ID=47243]
4[Option ID=47244]

Sl. No.45
QBID:2315048320

°UTS Bid g Yaf-d|
(1) 10

(2) 11

3) 12

(4) 13

1[Option ID=47249]
2[Option ID=47250]

3[Option ID=47251]
4[Option ID=47252]

Sl. No.46
QBID:2315048321

Seme &l & |
(1) I

(2) afer:

3) 3

(@) fIg:

1[Option ID=47253]
2[Option ID=47254]
3[Option ID=47255]
4[Option ID=47256]

Sl. No.47
QBID:2315048322

SfHRarTHaY: 57 Sauvsean: |
(1) HYH:

(2) 3fm:

(3) =1

(4) BN

1[Option ID=47257]

2[Option ID=47258]

3[Option ID=47259]
4[Option ID=47260]

Sl. No.48
QBID:2315048323

HTIRIETTERU TR Sid FbRE: |

(1)
(2)
3)
(4)

LI I E PR S )

1[Option ID=47261]
2[Option ID=47262]
3[Option ID=47263]
4[Option ID=47264]

Sl. No.49




QBID:2315048324

L IO P 55 [ wedl
1) 3%

(2)
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